Example A
Find the Fourier Series CaeS., Ck:

$$\frac{X(t) = \cos(at + T/4)}{X(t) = \cos(at + T/4)}$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:

$$w_0 = a = all = 5 T_0 = 11$$
Fundamental frequency:
Fundamental frequenc

Example B
Find the Fourier Series Cecf. of

$$x(t) = \sin^{2} t$$

Note that wo is
 $2 \operatorname{since} we have
 $\sin^{2} t$
Remember: $\frac{1}{2t} = -\frac{1}{2t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} - \frac{1}{2t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} - \frac{1}{2t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} - \frac{1}{2t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t} e^{t} e^{t} e^{t}$
 $x(t) = \frac{1}{2t} e^{t} e^{t} + \frac{1}{2t} e^{t} e^{t}$$

Example G Find CK : what is wo ?

$$X(t) = C_{0S} + t + Sin 6t$$
Using Euler's formula:

$$X(t) = V_{0}e^{j+t} + V_{0}e^{-j+t} + Sje^{-j}e^{j+t}$$

$$= \sum_{k=-\infty}^{\infty} C_{k}B^{jwotk}$$
Not: We have to find (w)
The formeria frequency (w)
Consider $e^{jwotk} = e^{jwt} + je^{jet} + Sje^{jet}$

$$= \sum_{k=-\infty}^{\infty} C_{k}B^{jwotk} = e^{jyt} + je^{jet} + Sje^{jet} + Sje^$$

Assume $p(t) = \sum_{k=-m}^{\infty} S(t-kT_0)$ Example D Find Fourier Series Coefficients of X(t). P(t) = Ecke bot what is Ck =? $C_{k} = \int_{T_{0}} P(t) e^{-jwot} dt = note P(t) = \sum_{k=-\infty}^{\infty} g(t-kT_{0}) has value = g(t) at every k$ $= \frac{1}{T_0} \int S(t) e^{-Jwot} dt \qquad using \int S(t) S(t-t_0) dt \quad t_0$ $= \frac{1}{T_0} = \frac{1}{T_0} = \frac{1}{T_0}$ => $C_R = \frac{1}{T_0} \quad \forall k \quad (For all ks)$ mag. of the freq. Spectrum to produce the second s -> what happens as To changes?

What is the DG value? Look at Table 4.3 (P. 170 3rd Ed) Case 7. In this case Xo=1